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Passage:

Hhal:— el st ufdan nymi fAPpeaaem: Ifuaaay Sw e frad|

DY HETHT | O H T ST KT | BRI S Had: d S adid PERH SAAN | FERAT 0 THIS0f o §: ot T af] Td $ER IR S | IO-EAd: SHIT: | FeTl T Haard JIg-IRie Uds ©
B¢ T THT 3B SUUTFI W & P Siq |

e g I ST T I | A A I Aiiiaa] | Ui ST S | e  TeTeR Sadd - "HRIed, Hadl fend Ty send s g 2
ST T Sfaee] - T PR SF? SIE JO I " | gl Ha: Hdaae] - “HieR GUH T ? 3RPT Td SN | WY He: U T | 959 Ui AW e Wi i Sl ST SIIieH 38 et

Q.No: 1 WgIHM T &: AFadr?

A He:|
B Rz
C gftse:|
D B il

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

T eifafad Tt ufdar uymi eaeemea: Ifaarm st e frad|

T HETT | T 11 T BT SRR | eI FH U d S il HORH SAa | TETEAT 98 GrIIS o §: i I qi U PO araT S | IHg: SHIT: | HeTdl T Haard g ue ©
F¢ YO THTH SEH JudHQA Ridfar g&@d s s@Riq |

A g A G I | @ SR A I Aiiaar | Wi T S | 4ad: o HeTeE Saddr - "Heled, HadT fendy ares syed sied g 2
gl TRTT Sraed - b HYH om? SF YU A Ua”1 TRI HeRT: YT - IRl Y9 T ? $f¥epT Ua U | Sivk: e g v | S5 ool 7H Yee: A ar S ST e o erawmfsif

Q.No: 2 fdb $PH 32 38 Y& 3 TG| - I qeHHGH?

A Bigcaal
B HeTHT:|
c ST
D YR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hhet:— N Tensr e v Rearamaee: Sfaany sw e Rrad |

FoH HETET | O 1 oA B, R | eI A Haw: d S A HERH SFTAAN | TETEA! T8 GRS o §: TRt I afeH] T FER IR S | IFHHd: SR: | TeTHl TRl Heard JATie Ue ¢
F¢ TER T SEHM SUUH@- Rifd@r g& Feg s@iq |

A g XA et T T | HR A I A | Wik STe S | e o FeTeE Soid - AR, Hadl [ndH Tares seed shed g 2
et | FIRTAT e - b HEH M7 IF YU AW Ta”| TG 1R Tedad - “HIES| YO T ? 38T U U | vk e U9 W | 989 4T AW Y Wi G Sl ST TEeh ] SiE SHami:

Q.No: 3 TgIeH: IuHH fFARiq?

A Rite
B Bl
C Fel
D Yk

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 1/43

Page - 1



Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Yot Hfelfarad et ufdar nemt fasearaemr: Ifaany S frar frad |

DY TETAT | T A o T HRT | Bl HY U d S qd HERA AN | AEIHT T8 GRITIU o T qi 6 qiT Ud HER ] (bl | IaTarg: 3TTd: | FETel au) Haar Qe-ida Ueb ©
F¢ T T SPEM JuuHQT Riafiar ge e @R |

A g A et T I | FRA A I aiiaa | Wi Tk S | e d TeTeE Sadar - AR, Yadl fhndy Ty seed s arend 2
fl1 TRTT e - " HYH Sm? 3F YO A Ta”| Ayl e WIHed - “HIeR YU Td 2 3fbeT U QU | vk e g v | Sga: ol 7H Yee: Wi aF Sl S Xafh o eraRmfist

Q.No: 4 SHERIURAEH - 3 HYuS 2

A TR
B el

c Eral]
D T

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tabe:— Sfelfafad Tenst ufdwn Uy Reaeemrg: Siuqar S R ferad|

Py HTA] | TR 7T a7 BIAH ST | PaIaq $LT HaW: d T daid PERHA SHRIAAN | FEIE 6 TR0 Ha §: aRf 31 AR T SR IIGH S | [TET8HY: SfTd: | ATl A% Haamd g1 O ©
He T THTH 3B SULFCH RITARiar G& s s |

A g I ST T I | w9 Al 1 Wiiqa | ik e S | Ha: o HeTeE Seddr - "Heled, Hadl fhndy ey sy e arerd 2
el | FIRTAT e - b HEH SF? 3E GG I Ta”| Ty Hal: Uedad - eS| GOH U ? S8 Ud U | Sivk: e g W | 9ga: Uil AW Yoo Wi G Sl ST JEGHT SiE SaRmie

Q.No: 5 "Hgiey, Hadl fend vares Hyad e arad 2" - releae fr feradl

A iceafl
B Heofl

c HEI|
D i)

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Y- Stehferiae et ufer Ut fasedrere veg: Sfdany S fr foraa|

DY TETHT | T A = TAH AT | BRI DY 4 d S qSHd SR AN | AEIHHT U6 GrITIU o : i I T UG FOR ] (e | IOard: SiTd: | TETell au Hadr Qo1 Ue ©
S T T 3B JuLa Riafidan Ja P seiq |

oA g XA st T T | = R i I Aiiaai] | ik e S | He: o FeTeR Saddr - AR, Hadl fhnd Tares send sied g 2"
31 TR Saed - T HEH om? ofF Ta HRH A" | Tege He: HeIde - P JGH U 2 SfOHT wd guurH | ofivk: Pe: wa v | wea: ufe: AW e A A1 Sadl 9eH Wi of st

Q.No: 6 TR UE TRINU $a- §: PO AT PR - AU e foiT feraal

A |
B @I

c FeRI
D Fa

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Hbet:— efafad et ufdcar vyt Rearemsoea: Ifaaem sw e Rradl
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Do HETEHT | O TH T WATaH KT | eI e Had: § S Gdid HERH STAaN | FETHAT 9 TS0l o F: Tt T afe| T FER IR S | TO-EHY: SHRI: | HETAT T Hard R gd ©
F¢ TR T SPEH SudHaT Riufdar & fery s@iq |

T g XA FieT T T | FRA A 1 aiiaa | i ST S | e o HeTeHE Sod - "Heled, Hadl [hndH aes synd s g 2
ST T Sree] - b PR SF? SfE FO O YA dgRdl HT: TRgae] - “HIe GUH T ? 3RPT Td SUUTHH | Sivl: He: Ua e | 95 Ui AW gee: Wi i ol ST e H 318 et

Q.No: 7 qgal - Ugwyd fergl

A q + Tl
B =+ e
c aq + 4l
D aq + Sl

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

- el Tt ufdar vamt e mva: Ifuaam st e frgal

Sy TRTAT | T AT o WA AT | Felfed FY UaH: d S q6rd SR AN | HEIHT T8 YT | F: q8i I q Ud FER IH A | TOTEHE: STTd: | HETel o Haary Qrerde Ue «
T T THTH 3RHH IuLHEH RIMRidr ga R @i |

UG g XE S T T | 9 SR i 0 Aifidaa | i $ier S | Ha: o JeTEEE S99dl - "Heied, HadT feadH vaes $eag e g 2t
Y1 TRTT Sraee - " HEH SF? 3F YO O Ta”I TG MR WA - "SIeR Y T ? Ve Ud SuNH | Sivk: e U e | sga: sl B gee: Ai dr Sl ST Xafs e o srawmast

Q.No: 8 WWEH &I faufda:?

A Gaieil
B gl
c LE il
D gt

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hbet:— Hefifad vest w3 nymt ReeramRg: Sfiaarm S e fRad)

AR [EATATH TR I

T Ay aeaTe<Esd= =)
7 fiveser gea YRR
X et argads g3 1|

Q.No: 9 T[EITH &: P ?

A TSk
B -
C g
D LU

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

T refifafad Tanr ufdan nyHT Reeramr: Ifaars 3w fRHiar firadl

ATRA[AATATH LTI AT

T g Te-e<Ed= =)
7 fiveser e IETaEg
iR Rt IrgardsT st 1!

Q.No: 10 it & mefafar 2
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A EERL
B R
C [SokICt
D TEAGH

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

bt refifafd Tai ufdan nymt feaaemea: Ifaqarm s far fodl

EISUGEIEREE ERUICRIE

T fAger aeEEsT =)
=T fvsTer ged ToqETas]
X et TrgardsT 5 1!

Q.No: 11 &: 4R Rdisafd 2

A AIgFa:
B TogF:
c RYga:
D TEAYSI:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

bk~ NG T ufdan nymT fAdedremaed: Sfiqany S e Rad|

HiX Rt =argardsT g 1

Q.No: 12 a1 fwref ol waifere

A i
B Edrgiug
c jucio]
D ST

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Habd:- srefifafad geisr ufdar uamr fesaasria: IRaar W far forgdl

ATRAAATA TN AT

T g ereEdT =)
=7 fivese ged YRETaE]
i R JrgardsT e 1

Q.No: 13 iy o0 o1 faufcs: 2

A [t
B fecfar
c i
D =gt

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:
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Habd:- srelifafad geiei ufdean nymr earasr: SRaar Iw fawr foradl

AR TA TSI AT

T fAaer aese<ed= =
=7 fivese ged YRETaE
i Rt FrgardsT e 1!

Q.No: 14 ‘Fuar o of&H U3 &: ywa:?

A v
B 9dl
c =
D g

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

G- srefifafad Tai ufdan nymr Reaeemea: Ifaaarm s far fodl

X Rt IrgardsT e 1!

Q.No: 15 faciwafa’ 3 M &: 9-FR:?

A - THR:
B - TPR:
C Tg- TR
D Rftfrgaer:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 16 -3 PR Ieaw fedar-agaem & Eu?

A A
B STH:
C SITHMH
D ST

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 17 "G ...." S THAUG [HH?

A HUS:
B auf

c o=
D gy

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 18 MI=RYFA Hid Nal:?

A LES
B R
c |
D TG

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 19 'faury 3fd ue &: yg:?
A ]
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B aq

c a1

D w0

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 20 @i YSIHT THRR:' 3fd RTgarea wu i wue

A ﬁ’jﬁ:
B e
c B
D Euni

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 21 i 3fd uew gl -

A HIEDR:
B fem
C Rae:
D wfdar

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 22 U-smardicaw 3u: Faar: fer Rigvfigia smfar: afe

A

¥ Rt
B forarsiteramar: Risid
C wferaama: gt
D TdAamn: Raid

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 23 e Ham BRY ¥, ITey IMRIgH I9am: frad -

A i eprs
B YT GRTITO
c Jaf
D [ReaE

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.NO: 24 TRTE oo, a we: W forsy- e s -
A FIRaaA (i

B TSR

c Tpia:

D SR (SR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 25 U%: Paufers: a1a: aafa aq grud= T Twavl griiere forad -

A Te: oy fawd Wit I TRRaRy

B T SR GUBGI G FHAUTIR rargHareiay S
C 1 7 Bl T EFE

D ST Fgk: ST IR AR 39 Wiy

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 FUHYTH T IR SUPROM K| T8 ITaT: fipaa----

A suiE ST g |

B BT TGO i |
c YN RErm |
D AT IR ARG |
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Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 27 ST TFdirear Tiefiq Rifée upaasam Sudn S g -

A T Yaeiias €8: oIt W saHi RERIITA SEIT Ergdl Hafd |

B raReia: FReRRER Tl 7 9w | T TP T8 R weE gdi |
c TEGY: Ta Y TdRISa UTofig g |

D T SIEHT YT UIo Fgrdl Haf|

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 28 f&TFMI (Children with special needs) TG RIGAS T aTHAT Hafa?
A IS IqeT: TaNT:

B 0T GEAERIT
C foammot diferdar
D TASHTHS-UIAT: (Symbolic language) TET:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 29 BFI: STVE-AFTIH SHaTg JHYT: 1AY: TUUH SMazTPH?

A fR-tey
B oG-I,
c fifep-are, R Arere A 9
D faR-rRin

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 30 RS sl Hw DI A Pl TEEAT?

A 9T
B I
c YTURT
D FGTE

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 31 = § & oy U< & Rigr o1 deiy B-
A RsicEiREge]

B Faa i sifmia
o Fad SR s
D SaRIE SRR T i st

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 32 e[ 3R oIS Yedicp §oI &Y J R &9 T B

A T2 B GUR F 1T TR wdewr s

B T & TR BT e TP F

o TiRTes, Ted IR T Bt e w®

D FASR 3y Rl 1 99 WR (TR FaT) R TS T

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 33 ¥l & UW-laE™ $1 HilE Wi &1 RDiS @ & SH-°1 Jaiis T g2

A igres ST

B QEwIRRY

c fofea odten ot SR -gfeTd
D TP

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 34 J1d | 3FTd Bt 3R’ I BT WA Bl &
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A EiuechtiDg:|

B o fafy &

C AR vt 7

D T TS HomreR

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 35 e Reror & o & a1 Rueror &1 Rigia 12 &2

A forarsfieren 1 Rigia
B Ron 1 Rl

C <y o1 Rigfa

D SRy o1 Rsla

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 36 FiE § 3 Heuied B Bi-0 te g 7 2

A THRIASI
B Fermsar
C foaeritaar
D Qe

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 37 T # 9 foru wrewd fafy &1 enfaser foram o1 2

A TRed

B SRE A

C foftw e A
D e Ry A

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 38 "™ F AR fawrg & forg wqun ot & siaas ¢ fora & s &
INIRe faer & fae A o1 gy,” 95 oy e 3§ A e g 2

A FPHEIFAR TEH

B SATRRET 6

c wr fader<

D HETE TR

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 39 i # 4 MfIs uwr &t s gds Rl
A @y
B g
c gerd
D aof

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 40 T& THM 12 79 3 3y & e H T oiftrs S 9a 3-
A APt & orgrieT & g af

B a0 D] BT GA T & AR H G BT IRy

o Faa vt ) G s

D Faa T NS T H FeTE

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 41 o=t H UTI-YRaA BT &MaT el Bidt 31 3(a:

A YTST-fag 1 B TR W E R 9 Ak

B T T &A1 BT ARG TET R Y WA Frm Rram o =iike
c T P TS WIS IR SUT HRET T TR

D
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uryT-fReyor 1 Hrf e far s ARe
Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 42y fRe? & e W Iuge e §

A STHR T
B T
c Eicel
D g

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 NI 1 & BT HEKT HET G AMRT?

A SRT Sl Bl ST I B AR T 5 AABITIE SR B
B et e s ok o= e @ g

C TRT I el R A o &

D SRt W gt R 8@

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 44 it il sraa 8 W 3 Rl &1 v o= =ifgee

A yaad fafy

B et fafy
c gy fafy

D 1ed GRa® fafy

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 45 faerlt uieasmH # TG & WY 82

A T e 7 U8 WY U T §
B it Wy & g7 o fawd 7t wgH @1 arem 3
c fixcita ey & A1 1191 ) <1 T R

D 1 23 A A RD T
Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

e - feu e wIiw # ggaR g MU Ul & el Ifd Ik Al fawed & 99 Sifene-

A oo & Ta-Sliad $1 SHf3HTeT Ud 9SS ST &9 T 81 AFG-Siad B F1s 2R 8 R & siyaud SnfseRY § srgar T w61 T ¥ onyfe gn g o1 g Feam 81 i e 3 g 9 TR, wifter
e, S SR Py, ol SR 4, fafeae oIk I, st ok e qur «fy ok dag o o1 ok w &3 # e 7 50 Tu § o sfom U § srfed a1 1 ot wvgn aivaw fag
AT & =Ror el F TWER I AR I URERT A v iR srgtieremrelt 7 € efda e 99, vgd @ i@ SR o B el @ e sraRer 7 of e 81 a¥ga: R orRe Te B wed 9 wfF
d § T ugfa iR WiterTd @1 RRO o7 w1 31 fagm & orgig @ 9 9 ueR 9 gfawrel ok Iraersll F1 Wifha UId $R 991 31 919 98 Ba- sl S U A IRkl Ul Gavd el 31 faggd 7 39 o
AR feadr & 2, e g [hat Ff B 1 G Bea D dreed it E 81 RS & [ty e 98 oy 81 g O 99R $ @edl 3 e 3 ang R il @ gial wgd o1 €1 1 € o) aqw fawa T
1 P R I & & F Iared 3t e 3 T F FRU o1 g wed | e o-ur F W 71 R ok R & 8 A Ry ot 3 sifteeeria B1 e & weah @ wgw ol SR s & one
TR T AR D B YR X IH1 ¢ GaraR, fage 3 v 31 S fasr uem far § ok aaie faa-usha < 31 39fe fmm-ugafs 3 a9 srufaxard ok wfe-mmrisht ¥ o Siar @R wd 9
FR THAl ¢ 3R Y T T Sfa of Il &1 399 A & T B gl & srufaar, yigel oiR <fRrarE RN, 11 ok s 9 gfed el 81 T 9 98 39 W 1 g @) it i 9 Rem S g
IS Bl H GeEifod a0

Q-No: 46 Iugjad Tl b g e 7 I IRt Wiefes 1 w2 Biog-
A i R SR Wa

B YrArTd Ud ¥ER
C foTm & sHae
D T 1 sifeed e

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

g AR R 7T e H ugaR g e U & 99 IR IaR A fawed B 90 Bifve-

TR 31 & Ha-SiaA $1 SHfAUIST Td Ui ST & T §1 HIFa-siiad &1 $ig ot & fagM & siyaud oifaseRl 9 srgar 78t %81l S0t § snyfe g fagm &1 g Seardl 31 o fage 3 g&w ofR A9, Fiiter
o, SEvTafa IR Fue, deliufa SR s, Rfras ik 3w, siftrma ok Rigd qur afa iR aag o & R ot &1 3§ et 7 et w0 8 o sfom v & ergfea v %1 st g oiaw fag
fage & =R iR F WER I AR 77 YRR a1 ya iR sreiiereali & € efda e 219, v 3 @ oiR o it sl ) AR oraRer & off nita 1 a¥ga: e s e Bt wed 9 wfF
A Y TS U AR W o1 RRWP 7 Gt §1 fagF & ogue § 9 9 ueR @) gl SR Trmerel o1 Wit Wd 7R 981 81 39 98 Ba-BHgl S YHIT § HRhd Ud Uk el 81 fiegd 3 39 o
AR i € 3, 9e gareR B 1t w31 e F39 Y ared @ 31 TIRGH & ffdy wem 38 gav ¥ IR vl AR & el & aler 3wy ok Wil 3 gl sgd 358 @1 T § SR I fava w
1 P R S F & F I B A IS T F FRO o1 g wed | ifiiw oF-ur F W B R iR Rifeen & & A g 1 39 siftmeeria §1 fawe % weai A e Rl ofR 9s & oRe
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IRP G SR AP H YA TR gH1 ¢ GAIR, RFE 3 79w 9 Aige Ao vem v R &R e fRa-usil f 31 SRe Rie-ueal 3 mgw srufivar ok wie-weRish 3 o o @wi ud w0
TR Gl § SR gurdf Td TR Siia ot Yahdl 31 399 B99 & T & gl & srufaard, ymguf ofR efaarl foui, v ok el 9 gfda fircht §1 fowm ot a7 ¢ g 81 9 9 e i g fagm e g
RATES BT H g s

Q.No: 47 Iudad TR & SRR, AFA & Runfofar g megwiifs

A o SeRiaR faftr fe=medt & Sg@ R

B o et faaRyRT 7 81

c g Bt iy sga mr 31

D o SeRiaR faftrT Rl  Sg@ =l &1

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= AR R 7T e B ugER g T U & e I I<R A e H1 99 Pif-

fax ot & wa-slia $1 sifywrey Td 9fvss o & T 31 AFa-Sia &1 315 W 87 M & siyaud onfassRY I srgar 761 w811 R0 sy g g &1 g Seam 31 i faRE A g ok R, Wit
o, Semaf iR Fue, Gotufa ofR 4fire, Ffres ofv 3w, siftrmr oik R auT ofa iR ag ot 3 oiR i &0 & forelt 7 ot w0 & oo s TR & srgfRa foban R1 ot e ik g
fagm & wRor feolt F TR I Ao I UK e SR sl # € e e €19, vgd 3 i SR o ) Gl @ afer sraRer # 1 i 81 avga: R srid Ae B 9ed 9 ufF
A Y T U IR W BT RRIGP 7 GaT 31 fagF & g 3 9 9 ueR 3 gl iR el o1 Wit Wd BR 991 31 39 98 Ba-Bgdl S Y § Hashid U9 OaRd T2l 81 fiegd 7 99 o
3R faaar & g, e qaax B2 1 o B T F 3t ared ot & ] 1 mEReE & [ty wreE S¥ gay ) aarmd ol SER & weEl 3 ae S un SR R 3t gRal aga w9 8 S § oK S fasa v
MR P AR I & &7 Iared Bt i I TN S SR o gfaT R I o e-ug F g 71 e iR fafren & & A fagm it & oifimee-a 31 faI & 9ea A uw eRelt SR YR & sd
TP G AR AP § Y3 TR gH1 ¢ GAIR, RFe 7 79w A Aige e gar a1 7 R daie Re-usiki & ?1 e Rie-usal 3 9w srufazarl ok wfe-ueRmsh 3 9o gl Ww ud g
TR Gl ¢ IR Turf i mie Sitae oft ed 21 39 B9 & I & gl & srufaardl, yaguf ok gfsarRit fauRi, v o srar § gid el }1 wm @0t ag 3 e B1 9Fa @) Tl ¥ o faam @ g
EIHES BT B g H0

Q.No: 48 Iugad T & SIAR, TATH A F G T2 Tio T Bl T & FiTd 39 g0 A 7
A fega e o1 @nd 7 81

B Wi BT RRAR 81

C wifrerTd &1 RRER 31

D vl AR TR 1 RRER 81

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

= <9 fou o TR 1 ugeR g T U & 9ed S IR fdwed @1 9 sifv-

fam oet & Aa-oliad &1 sifyurey Td ufte of &9 T 81 AFG-Shad & 31 o 87 I & siyayd SnfiseRY § srgar e w811 3§ sy gn g o1 g e 81 o Ry X g o TR, wifiten
IeFifad, ST ok Fuw, Goiufa ofR 4, fafeas ofR I, st ok Rie@ qur «ifF ok dag w31 ok o &5 # feht 7 5t w0 F o sfom v ¥ srmfed a1 1 oar T ufvaw fam
T & o iRel F WER A AR IH-a TR 10 vamT SR szt 7 @ v A 89, Uhd 3 v 9R o Hot el ) afas) sraRer 7 of ikl €1 axga: e s wra 7 e 9t 9fd
A A T Ul AR widerTd 1 RRMO o7 WaT 21 fage & orug @ 9 9 ueR 9 el ok Jraeiell F1 Wifha UId HR 9F1 §1 919 98 Ba-Hgsil S UHIT A ki ud Gavd T8l 31 faggd 7 39 o
IR tererdr <t 8, T qarax {1 B B T A @t ared 81 THReH F fafdy wren 38 gay €1 A vd GOR & Al & e § 90y ok R @t ghal 9gd B9 81 TS © SR 9 favd ©
W1 P AR I F & F Iare @t A7 9 T F FR o1t AT ged I e v-ur F W B R iR Rifen & 8 A fagm @t 3 sifteeeria B1 Rigm & wgal @ e okt SR g & one
TR S AR b B Y™ IR P 51 GataR, fage 3 v 31 dise fAer uer foar § ok dafe fra-usfa & 31 3ofie fRe-ugals 3 agw srufazaril ok Se-mwuRmsi ¥ god Siar W wd I
TR THA ¢ 3R U T T Sfia ot Thdr €1 398 A9 F 7 B g $ srufzare, yigel ok efharE RN, g o e 9 gfdd et 81 e 9 98 37 W 1 g &) it i 9 Rem g
EAAS ST B g H0

Q.No: 49 ITYF TR & SHTER, ‘THHas’ Tg 9 1 i 22

A e Hag S

B W SR SR ST

c FAY Y ST

D ot Tiivita a1 & Yhe g1 oM &1 Ea)l

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A= < R Y Teiw B ugeR g T U & 9ad 3 IR I [dded 31 9o Sifve-

3 ot F Wa-Siiaa $1 SfITey Td 9fss ST &9 T 1 AFG-Sia &1 S W &F R & sryaud SnfashrY & g et w811 3 ¥ sy g fawm o1 g Feard g1 o fage ¥ gE ofR TR, it
AR, eI SR e, Yoliufy SR siftves, Rfrers iR 3w, st ok Rigre qur wefy iR qay o & ok oot &1 & Rt 7 et 0 3 o sifom wem & srfea fran %1 s v ofikaw fag
fam & wRur el & TR A AR I-aS TRIRT T HaAr iR srgTfretad # € efda e 81, Ugd 3 W ofR I ot el Y dfgs? eraRer # of miofia §1 a¥ga: fowe s e 3wl 9t wfd
qq Y A TR SR WitrrTd @1 RRW0 o w6 31 T & orgue 9 98 9 veR B gRsl ok graesit o1 Wit Ui @R 991 81 9| 98 Ba-Hgsl & U ¥ Wk Ud 9 e 81 figga 3 99 e
IR fdaar & g, e gaax [Fh i o 1 W= A It ared ot & 31 TR & fafdy TreE S gay 71 arTd o YER § WeEl $ o § oy ofR wiF #t gkl sgd o0 €1 T € ok awEn fava w
MR P AR I F 47 F Sare B i IS T F FRO1 31 AT TR § S oo F T g1 e IR R % & A w3 aiftreeia §1 R & weam @ i oRedt 9fR s & e
IR 3 raRe W H I IR g1 31 TR, I A w7 1 s fem wem foa § ¢k dohe fmm-usfy & %1 dofie fmm-usals 9 waw srufisarel ok wfe-mRmmRiel 9 Had Sie aw @ wgl
TR FHAl § 9IR U T TR Sfa ot IHar g1 390 A3 & T B g & srufavars, yugef ofR <farh foei, v oiR e @ gfda firclt 31 famm 9t 98 ¥ g ®1 MG 91 wifte 5 a8 fem et s
XIS Pl H gRaRE HRi

Q.No: 50 =1 & 9 v ug 1 weliT Swfet iy & +7elY e ren @2
A fmm-usf

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/43
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B YA-U=T

C SH-HHA

D wie-urRrelt
Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

g AR R 7T e B UgaR g T U & Had IR IcR AW faded FT 90 Pife-

R o1 & THa-Sifad &1 sifaursa ud uivss ot 5 T 31 AFa-siiad &1 H1 ot & M & sryaud snfaseRi I srgar 7et 3811 St & snyfie g fagm &1 g0 sgardr 31 o fagm 3 7=y ok 9, Fifite
ORI, ST SR Fue, Yeliufy SR s, Rfeas iR 3w, siftram ok Rigrd aur arfy iR aaw i 1 3R ol & § Rt 7 fordt w0 § oo smfom W & srfe Rean %1 st wvgan oikaw i
fagm & R iReh & TSR A AR T-a) URIRY ara HaEr SR srgiferatadt F @ 2foa E 9, vgd 3w ok I &t el 3 aige eraRer H o niaxlia §) avga: oIm s Are 3 el 5t e
A A T TS IR Wit BT RRIGP 7 G131 fagF & g 3 9 9 ueR 3 glausit SR Trerel o1 Wit K B 991 ¢ 39 98 Ba-Bgdl & YHI J Hhid T4 Uakd el 81 fiegd 7 99 o
3R faaar & g, e qaex B o o B g A 3t ared ot € ] 1 mEReE & ity areE SY gy ) arard o SER & WeEl $ oo @ wng iR RiFT 3t gRel aga o9 8 S § ofR Wi fasa T
M 31 F SR I F &7 F Sared B A IS T F PR o g ugd § o e~ F wreT 31 e ofk Rifeen & am A fawe @ 47 st 31 faRm & wedm @ AT oxdll OfR R & e
RS 3G ke W § YW B g1 § 1 GAIR, RAFE A 79w 9 dige Ao yer a8 &k duhie Rem-ushl @ 31 dahe Rie-ueal 3 agw srufizarl ik wfe-waRieh A e ik W@l U g
X Gl § 3R gurd Ui AR Siia ot gahdl 31 399 B9 & 59 & gl & srufavard, yaguf ok efardt R, o SR e 3 gfda e ¥1 e ot g ¢ Wa #1 9 & Tl i g famm g
TS BT A g HY0

Q.No: 51 fom # ¥ duiw-Rmaw @ @ o 82

A W T4 Gy fmm
B fera fema

C W oA

D a1 fae

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

=T i T T TR B UgaR U@ MU URAl & e 3fd IR drd faded ol 9ae Pifer-

a9 3t & AMg-Siad @1 SfRHST Td 9 ST & T B1 Aa-Shiad @1 31 o 8 R & siyagd enfaseri @ srgar € @11 34 9 onyfRe g R 1 g S g1 oo Ry ¥ gy SR AR, wier
IerifeRt, SETTIfa SR Fue, deiiufa ofR #fhe, fafree iR I, siftmmar ik Rierd qut uifd ofR aa o 31 oik 9+t &1 & ot 7 forelt 0 & o smifom v & srqfea fovan 81 oiet g ufvaw g
g & o Rl F TR ¥ AR I)-aS TR I HaHT SR srgifetedt & @ =fpa A 89, vgd 3 R 3R I <t el o diga) eraRer o ikl §1 axga: e s Are % aed vt wfd
A I 7T TP oIR Wit SRR 7 9@ 21 g & orgue F 9 9t UeR 9 gfaurel ofR Trerell B Wit T $R 9H1 31 919 98 Ba- B S IS J HIRhid U Gakd Tel 31 faggd 7 39 o
3R ieferen 4 R, Fe qa} et ot B B wu= 3 Y arwd o § 1wk F Rifdy wrem 3§ gav €1 aET o $OR $ a1l $ alSer 3 ey ok wiEl @ gRal 9ga o0 8 ¥ ok e i ©
31 P SR I P 4 I 1 i 3R §F F PRl o g e @ S on-urr § w1 91 e iR fafden ¥ dF A fawm 9 4 it §1 fawm & i @ Age R ofk v ¥ ene
FXP 3G AR AP H YIW TR IH1 31 GaaR, fage 3 7w 3 Sige e g 5 § R e f-usfa § 31 e fome-ugafs 3 e srufasars ok wfe-uwrmstl & gad Sie v ud g
TR Gl § IR gurd v T e of ol 21 T A & T B g & srufdzard, ymge SiR A e, v ok sriea & g vl 81 R @1 9% 39 W@ §1 AMa 31 TR ¥ 9g fem A sw
IS Pt & g a1

Q.No: 52 1/ & & SH-W1 ez “Sela’ 1 yafaard =i 82

A HUE
B TEEgH
C SR
D Fa™

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e R R T T B TgaR IR Y U & 9ed 3 Iak ard faded &1 Tu Fifon-

ORI 3111 & HFI-SHaH o1 SHRUTST Td 9t SR & T4 81 Ha-sha &1 18 +ff & e F siyayd snfaseri ¥ srgar et e 39 9 3nyfie g Rgm &1 g7 Feam g1 o iy 3 3o 3R AR, it
IorifeRt, SevTafa STk pue, Yefiufa ok #ftve, fafrare ok 3w, siftrmar ok Rie qur wfy ol aag ol @1 ok ot &1 & ot 1 Fret 0 & o srwfom wea & srfea fvan 31 ot wwgn ofvaw fag
o & wRu el F TER ¥ AR I-a31 URIRT a1t waer iR srgifeetadt # @ efa E 99, Tgd 3w 9k I et Herell Y dfge) oraRer & off miofia §1 a¥ga: foe s e 3wl 9t e
9 Y A TP AR WO &1 RRW0 € w6 81 Ry & e 9 98 Wl veR 3 gRush ok grarsit o1 Wit Uik 3R 991 81 3| 98 Ba-Bgsl & U 9 Hanksid Ud 9 e 81 figga 3 99 e
IR e & g, e gara fFHh it F 1 T A B dred ot & 31 TR & fafdy reE S gay 71 I O WER F Wyl $ e 3 9y ofR iF #t gfial sga w0 €1 T ¥ ofR aEn fava w
TR P AR I F &7 F Sae B i IS T F PR 341 g TR S oo F T B e ofR Rl % & A w3 3 il §1 R & wea @ 19 oRedt 9fR R & e
FRE G AR AP H YIW TR IH1 71 FaaR, fage 3 7w 31 iSF A uer a1 3 ok e fraa-usfa & 31 e fara-ugafs 3 mgw srufasarl ok wfe-wRurmsh 3 gad Siax W ud gl
IR Bl § IR guref T T S St T 1 T IS & T B g Spufdzard), yigel SR A fER, 1 ok sriar 3 gie v &1 R o1 9% 37 Wa §) AFd 9 TR fF 95 e # ge
S F A g FR1

Q.No: 53 = & § RRW0r & oH-W I 82

A Tor gy
B o
c fanf sy
D i Sy
Correct Ans : C
Subject : Hindi Bhasha 01
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/43
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Passage:

e S B TR g9 T U= & 999 S19d SR adl [dded BT 90 Hifor-

for & 38 < oht A &,
HEsigang g A d,
WP Tl W TS Y F oy,

T @ 0 3 -3 -3 H,
PO R TG §IP1-5991, HiTTP1-I-
3 7T Fgl, 791 & Tgl ol [ oTg ?
TR U@ @R 9§ 3 81l e,
9 off 55 T= P 39 @ H,

1 SR A Fa-0 @ o FH A,
S 2t o el &1 Sher-dis He,

S T, S B B B Ferd o,
S o1 a8 TH & SieR I I Faw
Sita @t smar-emdt & 9 g e,
FT R FE W 35 7 75 99 9,
Sl b, ST, A1 U 1 R-Hall

Q.No: 54 {71 & ¥ Iwiaa TR &7 H<iia 41d I 82

A e @t smor-erdt

B TS B AT BT AT
c I T e

D TIBI-95PI, HiETHT-a

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

=T ST B UgHEr IR T U & 9ad IRd SeR 99 fAwed @ 9o Fifrg-

for ot 2R A ot 39 &,
Aeggngsugam s aa #,
TP TRl R TS e H e,
TP @ T S-S A H,
FO R G TIHT-99T, HiaaH1-gI-
31 T e, 1 He Ue W o g 2
TR T @R & 3mar 8 il a1,
Y oft o T P SE W,

1 R P SA-Ueh € To A o,
S HfieR | Hdl @1 Ser-uis FE,

Sl o, S &1 B D A A,
SN gl 98! B & feR A I Tl
Sita @t snar-emdt & Se gaa e,
F9 R HE W 3 7 Ig T 7F,
S o, SgT, T S9H 7 SRI-HaTl

Q.No: 55 Iuga Uil & wged Su-or 3-& &1 Foe & § o o g2

A =T

B = B &t

C T & WGl
D warf g

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

IR ST $1 UgHR gP TTU U & Yol Ifd Iaik a1t [dped &1 99 Fifere-

Ror 3 A e orft A &,
T TSI g § 39 g & B H,

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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W TP Tgi W TS Y 7 3,
U@ 1§ -3 &-a H,
PO R 1 5IP1-59P1, HiTaHI-HI-
ST TRIT ST, RN e Wel SR g g 2
TR T W X 3man 8 iy,
7 off 95 T o 39 W A,

T IR $T Sell-Ueit 5l o A o,
S iR ot el BT SHer-uie T,

St o, SR @Y R B T <R,
S el 6l 7 $ e | I =l
Sfta 3t smar-urdt # & aga e,
TT R FE W 35 7l 9% w9 9,
S b, FgT, A1 S9H T SRI-HaTl

Q.No: 56 ITYF T & TR “GabI-aar’ § et @l 9 32
A SaT-T

B Jad-adl
C Jar
D e

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

1w S F UgHR TP T U & Ia Sfd IaR At fawed o1 7 Fi-

for R At o ot A7 A,
AEsigangsugFa S aa &,

T US Tgl TR TP Helld H ¥,

T UD @ Y -3 2-a F,
FT R G GIHT-aHT, HiaaPI-gl-
1 T e, I B TRl SN [ g ?
R T R § o g A eI,
7 off 751 I= P 9@ A,

T R P SA-UH € FE FA A,
S iR 1t wel 1 Sher-uig H,

St o, I @Y R I T <R,
Sl g1 F81 A P 3ie § I el
Siigd Y smar-ordt # e gaa i,
TT R Y W I 7 75 99 9,
Sl faan, ST, W1 SEH R/ -l

Q.No: 57 Iudad Ukl & F & 9 vt fReor 82

A e BT yRI-Ig BT
B S ST BT

C YRl QRARY BT

D Refl & Wi el BT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A= B B UgHR IP T A & Ja9 Sid I<R art fawed &1 7 Fifo-

o fmr B e srft 49 2,
Ag g g g H A F,

B TS T8 R T Y F ¥,

T U @ 8 -3 S-q H,
TT AR TGT G-I, HiaaH1-dl-

T 7 g, T Hes TgT W o ohTg ?
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TR T IR & 3man 8l wepl-4,

7 ot 75 I fea Sw @,

1 R B SA-Ueh & To A A,

St iR +ft el 1 Shgl-uls FE,

St foa, S @Y R 9 e AR,

S el 8l 71 P e | I Il

it Y sar-od # e ged e,

PO R T W 95 Tl 75 99 9F,
S foan, FeT, AT SEH T gRI-HaTl

Q.No: 58 Iudad veiiw g8 b R IRa aar 82

A R R o R ¥ Rig
B YR IRARY & wfa oA RErt & fog
C fasm & forg

D STAITAS F g
Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

AR FIA P UgHR UP T URAT & qad Ifed Sk 91t [aded o1 994 Pifore-

o o A e ot A7 T,

T W31 goN § 39 g & A 7,
WIS Tgl R TF Yo § o,

W TP O ¢ -3 -7 F,
TT R TG G-I, Hiaawl-Hl-
31 T e, I B YRl SN o &g ?
R U W A s & v,
13 o we g R gw A

1 IR 1 Sa-Ueht 6 Fo B @,
S iR o H1el 1 SeT-uig 7,

St o, SR @1 R Y e o,
il gl el 7H & 3fex | I Hawl
Siig Bt sar-omh # e ge e,
P9 R Tl R 95 T+ 78 W9 T8,
Sl o, g1, A1 IEH 1 RI-Hall

Q.No: 59 fymfafaa & I SH-31 Xse U HT T SR S/ T 82

A writar
B SITAM
c iy
D g

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A Froar B UgHR gF T U S 9 I IR a1 fawed 1 99 Fif-

for forr A e srft 33 2,
Hogigan g ghm » A A,

@ TeT R TS YA H e,

W T N 3 -3 3-d H,

TS R G 5IT-§91, HiTTP1-91-

1 TRIT P, FT S T O o WG ?
5= T R § o € @ yaPI-a,

A7 1 w5 T b IU N A,

T AR BT SeI-Uait ol o A A,

S HiaR ot H1El 1 SeT-wig e,
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St o, I @Y R I T <R,
S FeT 6l 7 e | Iae <l
e @1 sar-udt § e gad e,
B R Pl W 95 Bl 78 ¥ 1,
S foba, @1, H SUH w1 RI-Hedll

Q.No: 60 fFmfafed & A o &1 yofaard v @1 82

A T
B gkl
C St
D =

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 61 YWhat should come in place of the question mark (?) in the following question?

2406894 13 VII56+113=2

Fratafaa war 7 wearas fows (?) & ®W R F@7 9T TRY?
13 X V1156 +113="?

540
A

540

535
B

535

555
(o]

555

545
D

545

Correct Ans : C

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?
2466972
12.25+26x7.5=7

Fofafead oy & tsEa® % (?) & RIF W 1 4 Fifey?

12.25+2.6 x7.5=7?

38.40
A

38.40

36.45
B

36.45

32.25
C

32.25

31.75
D

31.75

Correct Ans : D

Subject : Mathematics

Q.No: 63 What should come in place of the question mark (?) in the following question?
2467025

[BXx16 +256x512] +2" =1
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Fofafea gy & uyaras &% (2) & RIF W 1 4 Fifee?
[Bx16 +256%x512] +2° =1

6
A

6

8
B

8

5
C

4
D

4

Correct Ans : B

Subject : Mathematics

Q.No: 64 Average age of Ravi and Shyam is 50 years. If Ravi is 30 years old. Find the age of Shyam in years?
2467302

M SR vam i st oy 50 Ay 1 ARk A 30 o 1 1 A v @ ong 9 9wl F R

10
A

10

30
B

30

70
C

70

50
D

50

Correct Ans : C

Subject : Mathematics

Q.No: 65  The roots of the quadratic equation x> — 24x + 144 = 0 are:
2467707

T TR0 2 - 24x + 144 = 0 B HA &:

-12,-12
A
-12, -12
12,12
B
12,12
6,8
C
6,8
-6, -8
D
-6, -8

Correct Ans : B

Subject : Mathematics

Q.No: 66 The greatest number that always divides the difference between a three-digit number and, the number formed by reversing its digits is:
2467730

TF 9 TS T S gh A ST 3 e oI S ot Bt Iued A S arelt wem & g & SR 3 Ruifvrr awdt €, 9
A 9
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11
B

11

101
C

101

99
D

99

Correct Ans : D

Subject : Mathematics

Q.No: 67 1£\fy + /19 = /19, then the value of x is:

2468007
afg N :—\/1_=\/ﬁ,_(ﬁxaﬂmq%:
164
A
164
264
B
264
176
C
176
361
D
361

Correct Ans : D

Subject : Mathematics

%;'\‘6‘316188 In the given figure, ZAOB = 90° and COD is a straight line. The values of x and y are respectively.

A B

A B

25°and 15°

A
25° 3R 15°
20° and 30°

B
20° 3R 30°
15° and 45°

c
15° 3R 45°
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D 10° and 60°

10° 3R 60°

Correct Ans : B

Subject : Mathematics

Q.No: 69  Simplify:

2468248
Y
4
(7]
WA P
-7 -1
a2
(7]
81
256
A
Y
256
£
256
B
_s
256
256
81
c
256
81
256
81
D

256

&1

Correct Ans : C

Subject : Mathematics

Q.No: 70 Which of the following represented 10 times a number added to 12?

2468362
Foiiea & S 12 7 I 1 W o1 10 T G g2
10x - 12
A
10x - 12
10x - 10
B
10x - 10
10x + 12
c
10x + 12
12 - 10x
D
12 -10x

Correct Ans : C

Subject : Mathematics

Q.No: 71 What should be added to 3x + 5 to obtain 15x — 12?
2468414

15x - 12 U XA F T 3x + 5 H 1 Siig1 & Aige?
12x + 17

12x + 17
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B 12x + 15

12x + 15

12x-17
C

12x-17

17 - 12x
D

17 - 12x

Correct Ans : C

Subject : Mathematics

Q.No: 72 Principle of *General to Specific’ is used in

2468436
o S Ay & Refa s # i e s 21
Inductive method
A
SIS A
Deductive method
B
e fafy
Synthetic method
C
Ridfes fafy
Analytic method
D

frawonEs fafy

Correct Ans : B

Subject : Mathematics

Q.No: 73 What do you mean by constant errors on the basis of form of measurement and evaluation?

2468490

SHTIHT AT 3R G F AYR W AR FRedl & 71 Haae 82

This type includes measuring errors in the form of measuring tool
A

TG YR # WU & IUR F w4 § ! Y Ao wmiha @

This includes measurement errors occurring due to administration of measuring object
B

T WG i W ITHR0 & R & FRO A &

This includes measurement errors committed by measurer and evaluator
C

Tg T At AT IR edicrcal & gRI Widsiedl & RO 8

This includes the errors in the analysis of measurement results
D

Ig W Feat Ao aRom 3 fgdwur ¥ 3Rt % FRu R

Correct Ans : A
Subject : Mathematics

Q.No: 74 In which age later childhood occurs ?

2468640
facie reara g omg & St € 2
4-8 years
A
4-8 qf
6-12 years
B
6-12 7
C 3-5 years
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3-5q9
13-19 years

13-19 9§
Correct Ans : B

Subject : Mathematics

Q.No: 75 There are 180 voters in a town, 135 of them voted for a particular party "A". What percentage did not vote for party "A"?
2469599

TP B 7 180 Tefar €, 390 A 135 A T fafw urdf A" &1 die feam i A" & R fran wfasid 3 waer T fare

75%
A

75%

25%
B

25%

30%
C

30%

50%
D

50%

Correct Ans : B

Subject : Mathematics

Q.No: 76  The ratio of 21 km 600 m to 600 m is:

2469655
21 it 600 WX | 600 Hiex F7 UM &:
25:21
A
25:21
36:1
B
36:1
5:3
C
5:3
D
1:2

Correct Ans : B

Subject : Mathematics

Q.No: 77 If =(x*+1)(x-1)and = (x2—x+ 1)(x2— 3x + 2), then find the HCF of d g
5460535 p(x) = (x3+ 1)(x — 1) and q(x) = (x?—x + 1)(x?— 3x + 2), then find the of p(x) and q(x)

TR px) = (23 + 1)(x - 1) 3R q(x) = (- x + 13- 3x + 2), Tl p(x) 3R q(x) BT HETH FAITAD

I DI
(x-1)

A
(x-1)
(x2-x+1)

B
@-x+1)

c (x-1)(x-x+1)
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x-1xI-x+1)

X+ 1)(x*-3x+2)
(xF+1)(x*-3x+2)

Correct Ans : C

Subject : Mathematics

Q.No: 78  If the remainder is equal to 7x — 9, quotient is equal to x — 3, and divisor is equal to x? - 2, then what
2470007 will be the polynomial?

%ﬁﬁmh— 9 % T g, HITHT x — 3 P SRR 3, AR HINP x2 — 2 & TG g, Al 9gIa AN
?

x3+3x2+5x+3

A
x3+3x2+5x+ 3
x3+3x2+5x -3
B
X3+ 3x2+5x—3
xP—-3x3+5x -3
c
xI—-3x2+5x -3
x¥—3x2+5x+3
D

x3—3x2+5x+3
Correct Ans : C

Subject : Mathematics

Q.No: 79 If A:B = 4:5 and B:C = 3:5 then find A:C=?
2473329

& A:B = 4:5 IR B:C = 3:5F dl A:C=?

4:3
A
4:3
3:4
B
3:4
12:25
C
12:25
25:12
D
25:12

Correct Ans : C

Subject : Mathematics

Q.No: 80 In the cone of experience of Edgar Dale, the effectiveness of teaching aids from top to bottom goes on:
2475540

TSR 30 & 3Ha & M 3 SR A T 7 Rigr weras anell ) wvrasiier -

A increasing
remains constant
B R wd ¥
decreasing
c
Tedt §
D none of the given options
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o e et & 9 T
Correct Ans : A

Subject : Mathematics

Q.No: 81 Which two signs should be interchanged to make the given equation correct?

2479403
72+8x3+12-5=34
w1y Gt 3w SR F R 5 QR @Y e & agen s aifeee
72+8x3+12-5=34
+and -
A
+ 3R -
+ and x
B
+ 3R x
+ and +
C
3R+
-and x
D
- R x

Correct Ans : C

Subject : Mathematics

Q.No: 82 Given interchanges: signs + and +, and numbers 2 and 5; then the value of 18 + 6 x 3 + 2-5is

2481019
T Y S (3Mu H wew): RBE + R +, IR IWM2 3R 5; W18+ 6 x3 +2-5HIAAT
12
A
12
14
B
14
16
C
16
18
D
18

Correct Ans : A

Subject : Mathematics

Q.No: 83  Memory questions are used to test:

2481381
wfer it T oliggur A & forg Sy faar S R
previous knowledge of pupils
Y e
present knowledge of pupils
° et o e v
interest of the pupils
¢ R <
D discipline
SR

Correct Ans : A

Subject : Mathematics

Q.No: 84 How much knowledge is gained through the sense of listening?

2481806
G BT T § R I T g 97

75%
75%
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B 13%

13%
6%
¢ 6%
3%
D 3%

Correct Ans : B

Subject : Mathematics

Q.No: 85 In a lecture a teacher should present the students with examples of:

2asi813 TP IRAF H U Riere o oEl &) Fafiea Seesvl & Wy T S 9ieu:
foreign cultures
A o e
familiar daily life experiences
y oo 2 o & o
imaginary scenarios
¢ Pleuie UREd
D unfamiliar_objects and ideas
Y

Correct Ans : B

Subject : Mathematics

Q.No: 86 A good drama does not include

2481948
P 3 Aled ¥ e T8 ]
Interesting story

A R wgrEt
Alive dialogues

° e ¥
Very long play

¢ g4 el e

D Subject full of feelings
HresT § H v

Correct Ans : C

Subject : Mathematics

Q.No: 87 The alternative name of the “table of specification” is?

2482559
fafvdw i aifrer &1 Jefre W 32
Test Blue Print
A aq fite 71 e 7
Test Construction
® wtgor fAmfor
Test Administration
¢ RGO T
D Test Scoring

Correct Ans : A

Subject : Mathematics

Q.No: 88 Need for Remedial teaching can be identified by

2482585
STARTAS RIS F HNRAHdT &1 UgaH [bad gRI & o Fobell 82
Home assignment
b memm
Careless behaviour
B TIRATE IR
Shy nature
¢ Tt |
Physical Disabilities
° iR R

Correct Ans : A

Subject : Mathematics

Q.No: 89 "Mathematics is the language in which God has written the universe”.
2482703
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These are the words said by

RARfeT 3 g AW o fag e 3 ReA g "
¥ veg s gRI &8 T B2

Galileo Galilei
efiferdt efelt
Marshal H. Stone
A T ®H
Locke

Sicg

Benjamin Peirce

EEIEERER
Correct Ans : A

Subject : Mathematics

Q.No: 90 The sum of the digits of a two digit number is 54 less than the number. What is the difference between the digits of that number?

2483836
Sl 3T ardl TRAT & 3BT BT AT AT Y 54 T T, Ol 39 T & bl BT <R 3-
2
A 2
6
B 6
7
= 7
D Data inadequate
STeT Syt

Correct Ans : D

Subject : Mathematics

Q.No: 91 Red data book contains data related to:

2469399
et ST g § fra § Hefda et gt 22
All plant species of northern hemisphere
A
I e 3wt delf Pt oot
All animal species
B
it et @ wenfaat
Economically important animal species
C
3ififer T Hgequl Sial Bt ynfaai
Endangered species
D

T Yt
Correct Ans : D

Subject : Environmental Study

Q.No: 92  Study of trends in human population growth and prediction of future growth is called-

2469790
MY SHEE IS BT AT a1 Hiaer &) 9iS BT 3AF T 3 $gd 8-
Demography
A
SHETE
Biography
B
Cleeing)
Kalography
C
ST
D Psychology
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el

Correct Ans : A

Subject : Environmental Study

Q.No: 93 Which one of the following is a goal oriented creative method of scientific learning of an on-going activity in which we discover what we know to what we don’t know?
2470295

Fofifed & 3 S 91 U6 7eg 34T IS did § Fored 51 Sl I ¥, S99 S e 9 € 9% Wioa 82

Problem solving

A
AT GAYT
Role playing
B
yfieT v
Brain storming
C
R
Field trip
D
wieT Ay

Correct Ans : A

Subject : Environmental Study

Q.No: 94 Teaching would be more effective if the teacher

2470320
Rieror aifirep urdt g afe; Rierep-
Makes his intent purposeful
A
O T FY I §Y
Is master of the subject
B
I g & weRa 8
Uses various instructional aids
c
faftr Ruggor werads Al &1 IudiT BY
Declares his objective in the beginning
D

ESITd F ST I AT HY
Correct Ans : C

Subject : Environmental Study

Q.No: 95 Students can be given maximum knowledge of environmental studies
2470383

B B YRl ST Bl Gaifie 1 SRl S Gl §

by music education

A
it Y e gr
by regional and world tourism
B
& v fy weT arr
by historical buildings
C
TP THREH TR
Showing the parliament building
D

99g Had RRama)
Correct Ans : B

Subject : Environmental Study

The Archaeoladical Survev of India (ASTY was established in which vear?
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Q.No: 96

2470672

R QRIGE TIET (TS Bt R o adf 3 7 ofe

1945
A

1945

1988
B

1988

1861
c

1861

1999
D

1999

Correct Ans : C

Subject : Environmental Study

Q.No: 97 Ascaris infection is transmitted by;

2471987
TR YA R R e
Mosquito bite
A
B BT FleAl
Tse-tse flies
B
|- At
Consuming uncooked pork
C
31 U YoR BT Y
Drinking water contaminated with eggs of Ascaris
D

THRE F ST S gt Taea
Correct Ans : D

Subject : Environmental Study

S S U R PO S U S U

Q.No: 98 Birds who cover long distances to reach another land every year during a particular time because of climatic changes and for laying eggs as the weather in their natural habitat

2472410 (o|d and inhospitable are known as?

3 uelt S Sreary Ul & SRR I U R wme & GRA gt 4 W ugT & e ddt gt a aa § ok o 39 F i o wigfaes simarg # Hiw sga et SR g §) 9T ], 1 Hgak

residents birds

A
et uaft
flight birds
B
g ueh
Migratory birds
C
Tt veit
travelling birds
D

T SR AT uaft

Correct Ans : C

Subject : Environmental Study

Q.No: 99  Which one of the following statement is true about endemic species?

2472441

wifAw yonfodl F 9k & Fafifed & F $9 1 o3 g

A They are found exclusively in a specific habitat
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3 R U 3 v R smaw & iy o §

Endemic species can never become endangered

B

R gt Sy q@vr & 8 St

They are found only in zoos and botanical gardens
C

3 Faa RRERT ok sy et § o o §

They are not affected by the destruction of their habitat
D

F U AN F A & wuife T €

Correct Ans : A

Subject : Environmental Study

Q.No: 100 Which leaves are used for storing food grains at home?

2472484
R H 3 F SR & I 75 ot &1 Swd R s @2
Mahua leaves
A
TG & T
Dried neem leaves
B
WHEw™
Dhatura leaves
C
R F T
Dried Tulsi leaves
D

T &

Correct Ans : B

Subject : Environmental Study

Q.No: 101 After eating apple, orange, pomegranate and banana the test of orange was different from everyone else, because-
2472638

{9, TR, 3R IR Fal @M & 15 JdR $T WG arot Wit A T o1, Fife-

Because vitamin A is the found in

A

i e A urn s 8

Because vitamin B is the found in
B

a9 i B O S 8

Because calcium the found in
C

T TR UTT I §

Because vitamin C is the found in
D

i e ¢ omar e &

Correct Ans : D

Subject : Environmental Study

Q.No: 102 Microorganism that grow very fast in humid condition

2472833
T SfaRT 95 doll ¥ Fg et geH g §
Fungus

A
BT (PSE)

B Bacteria
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Yeast
C

i

Insects
D

Fie

Correct Ans : B

Subject : Environmental Study

Q.No: 103 Which of the following Geosynchronous Satellite Launch vehicle (GSLV) Mk II launches was successful?
2473906

Fafifad & S a1 Ygaaei SuUE Yo de Arb 11 (Sf. T3, va. . 1 11) T&Ye 9%d 81
GSLV-F10/ EOS-03

A
Sioa. e dr.-T%10 / §.31.09.-03 (GSLV-F10/E0S-03)
GSLV-FO6 / GSAT-5P

B
SH.Ta.TAdT.-TH06 / Sie-54Y (GSLV-FO6/GSAT-5P)
GSLV-FO9 / GSAT-9

[+
Sir.va.Terdl.-Th09 / Si¥e-9 (GSLV-FO9/GSAT-9)
GSLV-F02 / INSAT-4C

D

ST T dT.-TH02 / St-4%T (GSLV-FO2/INSAT-4C)

Correct Ans : C

Subject : Environmental Study

Q.No: 104 In which state is the National Atmospheric Research Laboratory (NARL) located?
2473941

TPta JrgHST SRy T (NARL) fre e & fRua 82

Tamil Nadu
A

afrerg

Andhra Pradesh
B

iy e

Maharashtra
C

HERTg

Karnataka
D

Flicw

Correct Ans : B

Subject : Environmental Study

Q.No: 105 Where is the ISRO Inertial Systems Unit (IISU) located?

2473943
R 3ARF Riewt gfe (11SU) wel Ry 22
Hyderabad
A
A
Bengaluru
B
qge
(o} Thiruvananthapuram
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Kochi

B

Correct Ans : C

Subject : Environmental Study

Q.No: 106 In which year did Dr Bhabha establish the Atomic Energy Establishment, Trombay (AEET)?

2473948
g o & ST T R RAIY Soif SRIF 2 (TS § ) B e B 2
1951
A
1951
1954
B
1954
1957
c
1957
1960
D
1960

Correct Ans : B

Subject : Environmental Study

Q.No: 107 The radio telescope “The Arecibo” had collapsed in -

2474085
T I F1 X341 Tofiiy g sRRye $9 o7 1 U
December 2020
A
¥R 2020
January 2022
B
Sadt 2022
February 2021
C
BREd 2021
March 2020
D
T 2020

Correct Ans : A

Subject : Environmental Study

Q.No: 108 In which year was the National Physical Laboratory formally opened?

2474139
PTG ifde vamTIen @t shaenie wu 9§ fw af @ i ure
1950
A
1950
1955
B
1955
1960
C
1960
1963
D
1963
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Correct Ans : A

Subject : Environmental Study

Q.No: 109 John Barnabas is known for his contributions in the fields of:

2474191
i S %1 P & 8 § fFw d9en F R S o 82
Molecular Systematics and Evolution
A
SR Yol SR ey (HiRegmR Rk 1S TWegRA)
Dynamic Systematics and Evolution
B
ST Rehfted S saegme
Rocket Systematics and Evolution
Cc
e AR ©s TaemA
Generic Systematics and Evolution
D

s ReAR TS TaRRH
Correct Ans : A

Subject : Environmental Study

Q.No: 110 Which of the following is the largest sugarcane producing state in India?

2475773
Frafif@ad # 7 yRd § FER T97 T FAEF I 82
Uttar Pradesh
A
R el
Gujarat
B
TR
West bengal
C
iy S
Madhya Pradesh
D

T Wem
Correct Ans : A

Subject : Environmental Study

Q.No: 111 The brand name of National Fertilizers Limited is popularly known in the market as

2475807
A Biased RS FITS TN IOR T Fw U F o 31
KISAN
A
faram
KHETI
B
&
NFL
c
T.U5.TE.
KRISHI
D
P

Correct Ans : A

Subject : Environmental Study

Q.No: 112 Sustained flow of a stream in the absence of direct runoff is known as:

2475926
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T S(UaTE B1 SFFURIRY 7 U YR F W YaTg $ gl I o

base flow

A
SMYR Y8 (39 el)
direct flow

B
T TG (ST i)
strong flow

C
I WATE (YT vl
straight flow

D

ften TIE (KT )
Correct Ans : A
Subject : Environmental Study

Q.No: 113 Which of the following is not a policy initiative taken by the Government of India in the seed sector?
2475935

Frofefea 7 3 #9 @ 69 &7 ¥ Ra WoR g1 31 7 v vew T 82

Seeds Act, 1966

A
o afafaw, 1966
Seed Review Team-SRT (1968)
B
T FHlen 9-T9.9R.EL (1968)
National Commission on Agriculture’s Seed Group (1972)
C
P e ag AT ST (1972)
Notion seeds policy (2002)
D

YRUN <t Hifd (2002)
Correct Ans : D

Subject : Environmental Study

Q.No: 114 Which of the following statements is incorrect about loosening of soil?

2475965
1. This does not allow the roots to penetrate deep into the soil.
2. The loose soil allows the roots to breathe easily
3. The loosened soil helps in the growth of earthworms and microbes present in the soil.
Fofifad # 3 o @ FuF g & dduA & ar § Tea @2
1. Tg SIS1 B A H e qeb U B Bl SIAN el e B
2. 3l fig) it 1 ST @ W A A
3. el et gt i gl AR Al R & Hag e 21
Only 1
A
Fad 1
Only 2and 3
B
Fag 2 R 3
Only 3
C
Faa 3
Only 1 and 3
D
Fag 1 R 3

Correct Ans : A

Subject : Environmental Study
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Q.No: 115 When is International Day for Biological Diversity celebrated?

2476604

SfRIgT ST fafderdr e e AT S 82

3rd May
A

37

12th May
B

127

21st May
C

21 7%

22nd May
D

2278

Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which method of teaching learning EVS can be used at all stages for children of primary to higher classes ?

2477285
e A I Benel & gwl B fw wlt w1 R Sdeg v @ o @ [ @ gudin far st gea g2
Source method
A
o fafy
Cooperative method
B
Tearh
Discussion method
C
=t fafdy
Project method
D

giErerT fafy

Correct Ans : A

Subject : Environmental Study

Q.No: 117 Which country has the most number of great one-horned rhinoceros?

2477816
1 2 & Fad oif T Wi a1 13 Ug o §?
China
A
Gl
Nepal
B
e
South Africa
C
SRyuT BTt
India
D
HRA

Correct Ans : D

Subject : Environmental Study

Q.No: 118 In which year did Job Charnock arrange to lease three villages (named Kolikata, Gobindapur, and Sutanuti) by the river Hugli in order to set up a trading post?
2477946

Sifa ARl 3 s e @i B 3 Rie g 7 & R A i (@R, TRER R gaEd) B 6 R 3 @) s e o @ de
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A 1690

1690
1701

1701
1713

1713
1724

1724
Correct Ans : A

Subject : Environmental Study

Q.No: 119 Who came up with the term ‘Urbanization’?

2477950
TRIBRUI Xeg BT Ui foem fpar?
Dan Smith
A
F R
Lewis Wright
B
T RE
Mitchell Micheal
C
e TEew
Ildefons Cerda
D

T St
Correct Ans : D

Subject : Environmental Study

Q.No: 120 The main point of difference between evaluation and assessment is that -

2478497
TeaiEA AR pe A e iR T 8 i -
evaluation lacks judgement based on criterias while assessment doesn’t.
A
egic B AFES! & SR W g 3t ot St § wiafes s & ¥ 7 g 21
assessment lacks judgement based on criterias while evaluation doesn't.
B
e H AFEE & SR W vk 3 ol Skt & sl eaie & Y A far g1
assessment requires data while evaluation doesn‘t require data
C
3ireper & g Se1 FY sraxawar gt § el Twied ¥ R e Y sravamar e 9 2
evaluation requires data while assessment doesn’t require data
D

i & g 31 3t simazawar St § Tl snwad & g 3 ot sravawar T S §1
Correct Ans : B

Subject : Environmental Study

Q.No: 121 Which development makes child self- dependent?
2473580

-1 B a5 &) AR S 82

Psychophysical development

TRRE e

B Biological development
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St e

Motor development

frares e

Creative development

TS o™
Correct Ans : C

Subject : Child Developement

Q.No: 122 Which of the following process is more important in the field of social and cultural progress.

2473688
TR T Wiptad W & & F Faff@a ¥ & few ufan o1 9ed e wed B
Co-operation
A
edm
Competition
B
i
Conflict
C
Hod
Differences
D

QYHAT
Correct Ans : A

Subject : Child Developement

Q.No: 123 Which of the following is not a personal factor affecting social development of child -

2473715
eI & G e I R § S -9 ke gow wfdd T8 e @ -
Health
A
W[y
Emotion
B
i
Peer group
C
e e
Intelligence
D

=

Correct Ans : C

Subject : Child Developement

Q.No: 124 The pituitary gland is found in of the body.
2473828

Livery

A
ey
Kidney

B
frs
Stomach

c
i
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D Braine

b i

Correct Ans : D

Subject : Child Developement

Q.No: 125 Abraham Maslow explained theory of motivation in 1954 in the perspective of

2474482
SfSiTEH A A 1954 7 SHfHIRU & Rigic 1 sarem &1 g uRkiled # wwHzmn m@r
needs
A
LICESET) ]
reward
B
™
expectancy
C
e
objectives
D
=

Correct Ans : A
Subject : Child Developement

Q.No: 126 What should be the role of the teacher in reducing the effects of individual differences?
2474501
1. The teacher should try to adjust the curriculum as per the individual’s needs

2. the teacher should try to understand the abilities, aptitudes, and interests of the students

AT AaNG & IR B B B A e BT yftrpr 7 @ =fRw?
1. Rigfes 31 Ak 31 SRR S STAR UTGIHH B AN X DI WA ST Mg
2. e &) Tl 3 wdreh, WG SR SRET S S ST T A1 91T

Only 1 is correct

FEALWT

Only 2 is correct

Fac 2 TE

Both 1 and 2 is correct

1R 2 ¥

Neither 1 nor 2

AL AR 2

Correct Ans : C

Subject : Child Developement

Q.No: 127 A person having a highly structured attitude will

2476212
S TR efPeior are s g
give a poor cognitive response to a stimulus
A
TF Al & FoIE U ERie e wiafsar &7 are
give a quick cognitive response to a stimulus
B
T Feierl & 1Y U @iRd Sxriee fafban 33 aren
have feelings and beliefs which are in conflict with his/her attitude
C

i e SR R € < 99 e $ Rda & @t

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

35/43
Page - 35



D have good social impact

33T WIS THIE BT

Correct Ans : B

Subject : Child Developement

Q.No: 128 BCG is a vaccines against

2476745
BCG 39% Tiaga deT §
Diptheria
A
feefifar
Whooping cough
B
EaGiReI
Tetanus
C
T
Tuberculosis
D

&R

Correct Ans : D

Subject : Child Developement

Q.No: 129 help to direct our attention to the task at hand, they mobilize our effort, they increase our persistence at the task and they also help us to adopt new strategies wh¢

2476876 help us.

B IR GART H F1E Rid 34 & Aeg I 8, 3 TAR WA P Wiod $d 8, 3 B R GAR! 23dl 9 & 3R o R gAR Heg o3 H fata 81 € df 3 71 0ol oY o & of

Intelligence
A

=

Aptitude
B

Tigar

Attitude
Cc

&

Goals
D

&

Correct Ans : D
Subject : Child Developement

Q.No: 130 Which of the following kinds of learning includes the changes which are not immediately observable.
2476968

Fafefaa # 3 59 1oR F i #t ofour 7 & aiads it © s qia aam dra T2 8

Latent Learning

A
Sfafiea St
Patent Learning
B
e S
Psychological Learning
C
TR sifter
Physiological Learning
D

TRINSG SRR
Correct Ans : A
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Subject : Child Developement

Q.No: 131 The network of ideas about oneself formulates what is known as our

2476992
79 W4 F 9 § IR BT Jead IR Fa 3 BR TR % Y T AT @ 3
Self-motivation
A
@ IRon
Self-concept
B
W SAFYROT
Self-goal
Cc
ST e
Self-interest
D

Q-
Correct Ans : B

Subject : Child Developement

Q.No: 132 Since attitudes are learnt predispositions, they are affected by which one of the following?

2477005
I aiftrgfiral At 5 g €, 3 P 3 @ R g1 wafa @t €2
Prejudice
A
RO
Attitude
B
T
Stereotype
C
wfe
Reinforcement.
D

FeEGtHRu

Correct Ans : D

Subject : Child Developement

Q.No: 133 individuals tend to see patterns as a whole, and have difficulty separating out specific aspects of a situation or pattern.
2477067

S Ve B T FU A 37 T, 3R el Rl o e & Ry ueqel &1 o o34 8§ 3% B et 1

Field dependent

A

RERSIED |

Field independent
B

&7 3Tl

Impulsivity
C

3T

Reflectivity
D

R

Correct Ans : A

Subject : Child Developement

Q.No: 134 Which of the following is a time of radical adjustments and plateau in development and a hazardous period?
2477450
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PafifEd & 3 39 a1 Ty At TR R e & s o o g safl 32
Early child hood

A
o SreTaRT
Infancy
B
RIS G
Late childhood
C
EGHEIGHERD)
Adolescence
D
[ERUNERS

Correct Ans : B

Subject : Child Developement

Q.No: 135 Who formulated the law of Heredity (Inheritance)?
2477520

AR (favrad) o1 Faw e i fear

Gregor Johann Mendel

A
IR S Hsa
Erickson
B
LieE]
Jean Piaget
C
S e
Sigmund Freud
D

s wrs
Correct Ans : A
Subject : Child Developement

Q.No: 136 According to Piaget, “Sucking and grasping” comes under which subdivision of sensory motor period?

2477563
TRt ¥ SgER, "TET 3R UdmeT" Gael IR el & fbw Suds & siaa i 2
Hereditary reflexes
A
ERUGUGESEURI
Acquired adaptation
B
SiRfed ergRe
Intentional behaviour
C
SIASEPR FHARR
Symbolic representation
D

e afafa
Correct Ans : A
Subject : Child Developement

Q.No: 137 Which of the following is/are the focus/es of Inclusive education from the angle of Human Rights?
2478078

i) No discrimination of the children because of their learning ability

ii) No discrimination of the children because of their social background

iii) No discrimination of the children because of their economical background

iv) No discrimination of the children because of their family background

Choose the correct code
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Fafifad # § $H-9/3 7Fa SRER F e 3 st e 31 wiew /87
i) = 3t UG B & F HRUI S5 Y PIS WM et

i) TR g8y ¥ SRU w= & Y P Veurd TEY

iii) S1T® ggyH & HRUT gl & I By NGHIT Tg!

iv) TIRaIe gEYfA F RO T F GIY Bis WGUId e

el BIS I
ii) only
A
ii) Had
ii), iii) and iv) only
B
i), iii) 3R iv) Faa
if) and iv) only
Cc
i) R iv) Faa
i),ii), iii) and iv) only
D

i),ii), iii) 8R iv) Had
Correct Ans : D

Subject : Child Developement

Q.No: 138 Which of the following system is true?
2478106
i) Integration focuses upon changing the system
ii) Inclusion focuses upon changing a child

Choose the correct code

Frafefad # 3 S 9@ vl ¥ 82

i) TP TUITeht T Fee R Hiad ¥
ii) T TP 9= P g W Bl &
SRHEIRSC)

i) only

i) aa
ii) only

ii) dad
both i) and ii)

aFT i) oK i)

Neither i) nor ii)

Tdari) & i
Correct Ans : D

Subject : Child Developement

Q.No: 139 Children belonging to socially disadvantaged groups may have .
2478180

i) Common needs and challenges

ii) Unique needs and challenges

Choose the correct code

TR TU YR TE S I A Qg g
i) ST SR SR A
ii) SIS SREA SR genferar
@ P
A i) only
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i) Haa

ii) only
B
ii) ad
both i) and ii)
c
3l i) 8K i)
neither i) nor ii)
D

ad@i)adii
Correct Ans : C

Subject : Child Developement

Q.No: 140 Which of the following is NOT a characteristic of intellectually bright children?

2478344
Fafied @ 3 o Sise w0 3 Ioaa a=i 1 [FLvad T 82
They try to explore all the time
A
3 T Y TARA P HIRE B §
They learn any topic thoroughly
B
3 foreft ot v 1 ot e Wi &
They do not ask many kinds of questions
C
¥ ¢ T ¥ war T U
They engage themselves best in any given work
D

3 fopalt ot fow e e A g ) TdAY FUJ YaW FRA §
Correct Ans : C

Subject : Child Developement

Q.No: 141 Chromosomal disorder "Down syndrome” is also known as

2478863

oG PR ers Rigm 3 & w0 # +ff S o 8

Trisomy 21
A

g 21

Trisomy 22
B

grRan 22

Trisomy 23
C

grRE 23

Trisomy 24
D

TREH 24

Correct Ans : A
Subject : Child Developement

Q.No: 142 Which of the following sub-component under the Componential Intelligence is responsible for actually doing things?

2479791
Fafiied @ 4 S 91 39-92%, UCH g SUGia & ded, SAfad (el SR I aad H Sl 57
Meta Component
A
3ffaed
Performance Component
B
e vew
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C Knowledge Acquisition Component

MM eH

Associated Component

it wes
Correct Ans : B

Subject : Child Developement

C224l\1709811463 According to the theory of Raymond Cattell, refers to the ability for abstract and logical thinking, and does not require any prior knowledge.
W Pea F Rigia  ER, S SR S Wi B gl I A Far 3, R 39 R 6 od 99 31 sawasar 781 8l 81
Fluid intelligence
A
T g (TS FeRHE)
crystalized intelligence
B
B R (Frearss LR)
Concrete Intelligence
Cc
T G (Fhie LR
Social Intelligence
D

T 9 (S SR
Correct Ans : A

Subject : Child Developement

Q.No: 144 Which of the following is an example of extrinsic motivation?

2479868

Frafafea # 3 3w aiffRon &1 JareRw 8

I dress properly to school to avoid punishment.
A

o @ 79 & g & @ & R S 9§ $US weTa gl

I like crafts that’s why I finish that homework first.
B

T3 Ricgwar Tue § TarT & 1gd 98 e T Bl gl

I study math in my free time because it is fun.
C

B 3 @t Ty & N vgar § i I8 AeeR 8l

I like to swim that’s why I practice for 2 extra hours.
D

T2 A1 TS § i & 2 6 siffa snarg #var g
Correct Ans : A
Subject : Child Developement

Q.No: 145 Which of the following laws given by Thorndike is most associated with Motivation?
2480001

yHSRE gRI fear T Fafafed & 3 SF-a1 fam iR I waifis awfid g2

Law of readiness

A
e 31w
Law of exercise
B
3y 1 FEn
Law of effect
C
a1 Faa
D Law of Multiple responses
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g wfafar g
Correct Ans : C

Subject : Child Developement

Q.No: 146 Which among the following is not correct regarding emotional development in later childhood?

2480079

AU & a6 § HIMF [ iy # Fofifed § § 99w wd T e

Children in later childhood retain all emotions which they have developed in early childhood.
A

TG & G H T 7 Gt WIS Y SRR T § St Igi a9 F el @ )

Children learn to control their emotions, the reason and stimulus behind the origination of emotions.
B

T GFTISN F S & WY it Hrael, FR IR e 9 Fifia S e §

Children also learn about socially expected and unexpected emotions.
C

= RS T Y SR SR SmeiE WM H aR 7 off 9 §)

Heredity becomes the significant factor that affect their emotions.
D

HFFARIBAT I YA Y WU H 91 HeaqU BRE &7 Wil g
Correct Ans : D

Subject : Child Developement

Q.No: 147 Feelings are requirement for the emergence of emotions
2480113
T & Igd & fog gamm TG B &
Sufficient
A
Loile
Necessary
B
=
Only
C
Fad
Barely
D
qRea ¥

Correct Ans : B

Subject : Child Developement

Q.No: 148 The Right to Education Act, 2009 specifies that if the number of children admitted for first class to fifth class is above two hundred then the pupil-teacher ratio required is.

2480651
e &1 SfBR A, 2009 # FfEE frar T § 75 Fen-1 A -5 7 3l vaw RY T el o o @ 9§ afte g, @ Rendf - sieme siaxae sy gl
30

A
Giit
40

B
Gk
a5

C
Yl
50

D
L]

Correct Ans : B

Subject : Child Developement
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Q.No: 149 Which of the following is not the theory of intelligence?

2480678
& @ - i o Rigid T8 22
Unifactor theory
A
To-dd fieia
Two-factor theory
B
- Rigia
Theory of regression
(o}
TR 1 R
Multifactor theory
D

Tga@ Rigla
Correct Ans : C

Subject : Child Developement

Q.No: 150 Giftedness is-
2480773
1. Inheritance
2. Environmental motivation

3. Genetics

il e @ -
1. ST

2. IR WieeT
3. e

Only 1 is correct

FIT1TRE
Only 1 & 2 is correct

Faa1L IR 2TRE
Only 2 & 3 is correct

Fa 2 IR 3 W
Only 1 & 3 is correct

Faq 1 IR3 TR

Correct Ans : C

Subject : Child Developement
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